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aa=2 4 il &gk AR ARG B2 FR AR RSt
1 W TR X 62090101 R 01 60.60
2 e TR X 62090101 KL 01 60.40
3 TREH TSR TR X 62090101 B <ifr 01 59.50
4 SR BT Gt 62090501 SR 01 57.00
5 AL T R T ] 5 E B 62090701 KB 01 59.20
6 ki IR TN 62090401 KB R 01 53.60
7 ] TR T X 62090102 HAth 7 02 66.70
8 K% TR T X 62090102 HAth i3 02 62.40
9 X1 TR X 62090102 HAth i1 02 62.30
10 AL TR X 62090102 HoAthpa 02 61.00
11 2 TSR TR X 62090102 HoAt oz 02 60.90
12 HikE TR TITRTM IX 62090102 HoAt s 02 60.20
13 JLIfERY TSR AT X 62090102 HoAtd 07 02 60.00
14 BET 2 TR T X 62090102 HoAth b7 02 58.60
15 FARME TR X 62090102 HAth 7 02 57.20
16 B TR T X 62090102 HAth i3 02 57.10
17 BRI TR X 62090102 HAth i 02 56.50
18 BE TR X 62090102 HoAtb s 02 56.30
19 2K PR E 62090202 HoAt iz 02 61.30
20 =1 Al IR E 62090202 HoAt s 02 59.40
21 AR IR T A B 62090202 HoAtd 07 02 57.60
22 = IR TR 62090202 HoAh <7 02 56.70
23 TE IR AR 62090202 HAth i L 02 54.90
24 W= IR R 62090202 HAth i1 02 5470
25 R R TT 62090302 HoAthpdfir 02 67.70
26 HfE R TTT 62090302 oAt i o7 02 57.80
27 X R R 62090302 HAtb 7 02 55.40
28 XIEZ R T 62090302 HoAt oz 02 55.10
29 E oA iati] IR TR B 62090402 HoAth A7 02 66.60
30 o IR TN 62090402 HoAthpd iz 02 62.40
31 ful IR TN 62090402 HAth 31 02 61.40
32 B i TR TN 62090402 HoAth =iz 02 57.50
33 VRS TSR T IH H 62090402 HoAthpdfir 02 56.90
34 B4 TR TN B 62090402 oAt i o7 02 55.60
35 TNE TR T s T 62090502 HAth 7 02 64.10
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36 JElZT TR T ks T 62090502 HAth i 02 62.50
37 HEIGERR IR TR 62090502 HoAthpa 02 61.80
38 53¢ TR T ks T 62090502 HoAt oz 02 61.50
39 Bk BT Gt 62090502 HAtb 7 02 59.50
40 iR SR T T 62090502 HoAt a7 02 58.80
41 AR TR T ks 62090502 HoAth 7 02 58.00
42 piNa) IR 62090602 HoAth a7 02 57.60
43 ZEA R 62090602 oAt oz 02 56.40
44 yapl SR TP s E B 62090702 HoAth =iz 02 54.80




